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Binomische Formeln 

Arbeitsblatt 
 

(𝑎 + 𝑏)2 = 𝑎2 + 2𝑎𝑏 + 𝑏2 (𝑎 − 𝑏)2 = 𝑎2 − 2𝑎𝑏 + 𝑏2 (𝑎 + 𝑏) ∙ (𝑎 − 𝑏) = 𝑎2 − 𝑏2 

 

Level  1 :      Level 2 : 
 

(𝑥 + 𝑦)2 = 𝒙𝟐 + 𝟐𝒙𝒚 + 𝒚𝟐 (4 − 𝑐)2 = 42 − 2 ∙ 4 ∙ 𝑐 + 𝑐2 = 𝟏𝟔 − 𝟖𝒄 + 𝒄𝟐 

(𝑎 + 3)2 = 𝑎2 + 2 ∙ 𝑎 ∙ 3 + 32 = 𝒂𝟐 + 𝟔𝒂 + 𝟗 (𝑒 − 9)2 = 𝑒2 − 2 ∙ 𝑒 ∙ 9 + 92 = 𝒆𝟐 − 𝟏𝟖𝒆 + 𝟖𝟏 

 

Level  3 :      Level 4 : 
 

(𝑠 + 3𝑡)2 = 𝒔𝟐 + 𝟔𝒔𝒕 + 𝟗𝒕𝟐 (3𝑎 − 𝑏)2 = 𝟗𝒂𝟐 − 𝟔𝒂𝒃 + 𝒃𝟐 

(𝑏 + 4𝑐)2 = 𝒃𝟐 + 𝟖𝒃𝒄 + 𝟏𝟔𝒄𝟐 (𝑐 − 5𝑑)2 = 𝒄𝟐 − 𝟏𝟎𝒄𝒅 + 𝟐𝟓𝒅𝟐 

 

Level  5 :      Level 6 : 
 

(3𝑒 + 5𝑓)2 = 𝟗𝒆𝟐 + 𝟑𝟎𝒆𝒇 + 𝟐𝟓𝒇𝟐 (4𝑒 − 6𝑓)2 = 𝟏𝟔𝒆𝟐 − 𝟒𝟖𝒆𝒇 + 𝟑𝟔𝒇𝟐 

(2𝑥 + 3𝑦)2 = 𝟒𝒙𝟐 + 𝟏𝟐𝒙𝒚 + 𝟗𝒚𝟐 (8𝑥 − 3𝑦)2 = 𝟔𝟒𝒙𝟐 − 𝟒𝟖𝒙𝒚 + 𝟗𝒚𝟐 

 

Level  7 :      Level 8 : 
 

(−𝑥 + 3𝑦)2 = 𝒙𝟐 − 𝟔𝒙𝒚 + 𝟗𝒚𝟐 (−𝑟 − 𝑠)2 = 𝒓𝟐 + 𝟐𝒓𝒔 + 𝒔𝟐 

(−2𝑎 + 5𝑏)2 = 𝟒𝒂𝟐 − 𝟐𝟎𝒂𝒃 + 𝟐𝟓𝒃𝟐 (−7𝑝 − 2𝑞)2 = 𝟒𝟗𝒑𝟐 + 𝟐𝟖𝒑𝒒 + 𝟒𝒒𝟐 

 

Level  9 :      Level 10 : 
 

(𝑥 + 𝑦) ∙ (𝑥 − 𝑦) = 𝒙𝟐 − 𝒚𝟐 (2𝑒 + 𝑓) ∙ (2𝑒 − 𝑓) = 𝟒𝒆𝟐 − 𝒇𝟐 

(𝑟 + 4) ∙ (𝑟 − 4) = 𝒓𝟐 − 𝟏𝟔 (5𝑐 + 3𝑑) ∙ (5𝑐 − 3𝑑) = 𝟐𝟓𝒄𝟐 − 𝟗𝒅𝟐 
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